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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. 3irum.am. e W Rt #t ermgdE e s e, e W fied/tr /ase w0 oft e s A fafia
F & T Fae sier urse U (Shretl 31 e T STERT A

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers. '
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. 9% B ¥4 F fu fww siv/an sl ot sravEs @, i % @y ag s fewed (a), (b), (c) #R (d) for sma
3T | haw T & gal gl

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

Y erevi % fore 50 geete o eifqw g o/

TA-03 Please see the last page of this booklet for rest of the instructions



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
ONE SUBSCRIPTION |

‘I
40,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
500+ Previous Year 500%
Exam Covered Papers Refund

DOWNLOAD NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda

24

GET IT ON
A Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR47

-4__ ' HUMAN SPACE FLIGHT CENTRE SET
ELn

e TECHNICAL ASSISTANT - CIVIL B

1. RemTidIgdEd | oEHs uRid @R), e o1 dee e 4 9/ & 90 1R & Yy S g |
fieTg 3 AHUS] ¥ aIC THIAT & fF TR I & m B ek g 5 /A B wHE T @ wRiia &1 e FRar e
| af faeTa Hae 59 W, HITTdT & RS o18 T §19% ¥ oIl ¢, o, 1 AT weiid & U g wrim ?

Vikas was having a cup of tea at the side of an empty street. All of a sudden Prashant(thief)

pickpockets Vikas’s wallet and starts running at the uniform speed of 4 m/s. Vikas realises
that he has been pickpocketed after 3 seconds and starts chasing Prashant at uniform speed
of 5 m/s. If Vikas can only run for 59 m after which he gets tired and stops, can Vikas catch

Prashant?

(a) &l TEURId B UBSAH 1. UgD WTdr 8 / No, and he misses Prashant by 1m
() & 98 uia HY 59 W H Uhs A1 § / Yes, he catches Prashant in 5Qm

© &), 98 Uxid & ges & 2 1. & 9% Wl § / No, and he misses Prashant by 2m

() & 9% vid &1 58 Wt & uwS AT 8 / Yes, he catches Prashant in 58m

2.  U® AW IR uhe, ufE o1w aul & A die § | A1 agoneu ¥ Ford s e | @), Sl 7 @ gH
B YT feaet 82

A bag contains four white, five red and six blue balls. Three balls are drawn at random.

What is the probability that all of them are red?

() 1/22 (b) 3/22 © 2077 d 291

3. [MPSinxdx=y, ypr AR 71§

fom 2 Sinx dx=y, Find the value of y

(a) 1 () O (¢ 0.50 (d)

TA-03 3 March 2020
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4. gﬁ@ﬁ?ﬁﬁfﬂﬂﬁ&ﬁ?@ﬂ;ﬁ?ﬂ?&ﬁﬁﬂﬂﬁﬁﬁﬁ?ﬂﬂﬁﬂ% e & T uREd e S @
| T BN R S Rdo R e S

A cantilever beam is subjected to uniformly varying load having zero value at free end and
maximum value at fixed end. The deflection of beam at the free end is given by

(a) wLY20EI (b) wL410EI (¢ wL¥40EI (d) wL*/30EIL

- 5. Of e vied 20 AT (@R 10 AT, e, A aiftreran SR i F9T § T

If the principal stresses are 20Mpa (tensile) and 10Mpa (compressive), then what is the
maximum shear stress?

(a) 30Mpa (b) 5Mpa (¢) 15Mpa (d) 20Mpa

6. T TR AMYR A B OO S G0 TR €, o, i WS F g ?

If the shear force diagram of a simply supported beam is parabolic, then the load on the
beam is ;

@ uu w0 faka @S / Uniformly distributed load

(b) T YRR Hehisd e / Concentrated load at mid span

(¢) UM R farefie =gy i / External moment acting at mid span
(d) Ya® ©u § faafid fgafa d@is / Linearly varying distributed load

7. gﬂﬁm%ﬁﬁﬁm@@ﬁﬂﬁmﬁﬁwmmiﬁ’tuﬁﬁ?ﬁaaaﬁsw
?

The length of the column, fixed at one end and free at other end, is doubled, then the Euler’s
Critical load gets

(a)  enureiar g / Halved

(b) @I Ean g / Doubled

(c) HA DI % 'Eﬂ?ﬂ% |/ Becomes % of original
(@ ¥ uRady T8l / No change

8. ¥ iddfid R ¥ uy e FARR 7 ATS BRF YR TR i 71 2

What is the reaction at support of the propped end of a propped cantilever beam with
concentrated load at the centre?

5p 5p 3p 3p
(a) 16 (b) 5 (c) T (d) 3

TA-03 4 March 2020
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9. Waﬁﬁ@ﬁﬂgﬁiﬁﬁwmﬂﬁﬁﬁaw%

The maximum longitudinal pitch allowed in bolted joints of tension member is

() Wi & AN ST 16 TAT YTl 300 HH. St off 9 8 / 16 times the diameter of bolt or

300 mm whichever is less

(b) Siec & S BT 32 T 3ryar 200 A, St FH 81/ 32 times the diameter of bolt or

200 mm whichever is less

(c) wic B Hicrs &I 16 AT Studl 200 ., St ff $H 81 / 16 times the thickness of the plate or

200 mm whichever is less

(d) ™ DI HACE B 32 T[T 34dl 300 e, St $T 81/ 32 times the thickness of the plate or

300 mm whichever is less

10. Fe4l5H 415 T2
In Fe415 what does 415 implies?

(a) fy=415 N/mm?2 (b) fu=415N/mm?2
(C) © fracture = 415 N/mm? . (d) fsafe = 415 N/mm?2

11. Ffiec ¥ o amed & fg SR & &1 dife |are?

The Bogue’s compound responsible for ultimate strength of cement is

(a CaS ' (b) C2S
© CsA (d) CsAF
12.  wuA A7 & S RoTY 511 1 SRV ST Y YR PT——— %EIl o
For first class brick the water absorption is ————— % of its dry weight
(a 20% b) 225%
() 25% (d) None

TA-03 5 March 2020
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13. s @) 180° 4 Vo BF 3 RiY, 39 axard W e Hf v fest o 82
The type of hinge used for fixing a window shutter to swing up to 180°
(a) @ fgel/ Butt hinge (b) o f@sT / Piano hinge
(c) uifefade f§% / Parliamentary hinge (d) G’WQEHH“—WAH the above

14. OB D T B IHTS I 67
The unit of Kinetic viscosity of fluid is

(a) N sec/m? (b) cm?/sec

(c) One Dyne ' (d) MPa

15. <o dreik S Tae T SEdeR We S F SR g T g | afE wie &1 M wR &R &

R M &, @, e &R A &6 S F5 D Harg ol g
A rectangular plate is immersed in water vertically having breadth B and Height H. If the

top level of plate and water level are same, then the height of centre of pressure from water

level is
(a) 2H/3 ' (b) 3H/4
(¢) 4H/3 d) 3B/2

16,  FgOmTd B SUERO HIOT T Bl 87

In Venturimeter the divergent angle is

(a) >VARMEI S />inlet Angle (b) <WARAHI P/ < inlet Angle
(¢) =VARM®I H0/ =inlet Angle (d) IsHaY 78l / No relationship exists

TA-03 6 March 2020
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17. g s SUE() ¢ T T F Y BT T F ol e & god & o e ok sifte v &

Tl BIdt & i T I e @A §

HR (AR) : 79 B T a9 & Ao e gidt @

Assertion (A): The movement of two blocks of wood glued together with hot glue requires
greater and greater effort as the glue is drying up.

Reason (R): Viscosity of liquids varies inversely with Temperature.

(a)

(b)

(©
(d)

@ g '3AR’ S ol g IR ¥R T & o &t fgaxur 2 / Both A and R are true and R is correct

explanation of A

‘U"H'Gﬂ?'ﬁﬂ'eﬁ?fé?ﬂ’a{ﬁ' 'Q'ﬁﬁ‘!ﬂ‘sﬁﬁﬁﬂﬂﬁ%/BothAand R are true and R is not

a correct explanation of A.

o e & 3R 3R Td & / A is true and R is wrong
@ AT & 3R ‘SR’ 981 8/ A is wrong and R is true

18,  Prefafea § € e e w8t 82

Which of the following statements are correct?

1.

(a)
()

T 3R e PO VAR FIEfeTd 9 & offe} ud Ry W sneika gir 8 / Friction and

pressure drag depend upon the shape and position of immersed body in a flow

A T TR We B YaTe @ fwn & YR § 3@ Sl &, @, & HY0 Y Bl § / If a thin

plate is kept parallel to the direction of flow, then the pressure drag is zero

A T TR W B T TRE $ aad @ o 8, o, 960 Hwur g6 EieT € / If a thin plate

is kept perpendicular to the moving fluid, then friction drag is zero
$ad 192/ 1 and 2 only (b) Faa193/1and 3only
Haa2d3 /2 and 3 only d 1,2a3/1,2and3

19. aasﬂwfam#nﬁwasﬁmm 5T TBR P} TarE o R i

For a high head but low discharge which type of turbine would you recommend?

()
(b)
(@
(d)

TA-03

g ¢ UeeH b/ Multiple Jet Pelton Wheel
5 €Rars / Francis Turbine

H@H cars / Kaplan turbine

TN exargA/ Turgo turbine
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20. Ul A FrefdfEa srgedredl R fauR Sifsw/

Consider the following impurities in water

(1) CO2

@)  geH-fausa fdiferd =g / Finely-divided suspended matter
(3) ATHRE SR Disease causing bacteria

(4) oMU &Rl / Excess alkalinity

U e O W g glredt ol ge BT el 5 &l gl o |
The correct sequence of the removal of these impurities in a water treatment plant is
@ 1,234 ' ®) 1,432
(c) 1,4,2,3 @ 4,1,3,2

21.  SMETY. 10500-1991 F SIHR 47 oet & Srafse Tod Feiki= B Srafem S o1 67
The desirable limit of residual free chlorine in drink water as per IS 10500- 1991

() 0.3 ppm (b) 0.2 ppm (¢ 0.1ppm (d) Nil

22.  gHI-IH GEI-11% Ty ey ok 96l Sk g+ ‘

Match List-Iwith List-II and select the correct answer |

glList-1 FelList-11
A. Sifshg @ Humell/ 1. GHI &T¥ Ud §g YaTs U/
Dead-end system Fqual pressure and multiple flow paths
B. Tt/ | 2. Mrqofand Sqea aAH e/
- Grid system Both economy and reasonably equal pressure
C. Tyl 3. fHdaaitar td WRaal Economy and simplicity
Ring System '
D. f&Ta/ Radial 4. UIGRe fdaR0l/ Zonal distribution

Codes:

A B C D
(a) 3 2 1 4
) 2 4 1 3
(o) 3 1 2 4
@ 2 1 4 3

TA-03 8 March 2020
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‘ €m4
23.

.24,

25.

RIZerTs FUA) : Wl gaT I Ha Seaeht & i 9t & gome et w R wee @t gern 7 i

g

W(e{m:gﬂﬁaﬂa@qﬂ%&@nﬁmm&nﬂm%sﬁ?%ﬁﬁwﬁmm Uy a1 9

3ifer &

Assertion (A): The rates of settlement of building structures on sandy soils are faster

compared to those of buildings constructed on clayey soils.

Reason (R): The rate of consolidation is dependent on the permeability of soils and the

permeability of sandy clay is more than that of clayey soil.

(a) @ g 'R S Uel & 3R 3R ‘T B Tel faavur 2/ Both A and R are true and R is correct

explanation of A

(b) T 3R ‘IR el § 3R 3R ’Q’G‘ﬂﬂ'ﬁﬁﬁmﬂ'@pf%/BothA and R are true and R is not a

correct explanation of A

(c) o TEl & SR 'R Tad & / A is true and R is wrong
d T TTeld & SR ‘3R’ el 8/ A is wrong and R is true

T ST (%) SR TR b o T el T W RN S &7

Relation between void ratio (e) and porosity (n) is given by

n n
© e=—"- @ =2
1-n n-—

HETIS IUFH BT U freht feforea & forg foram s &7
Casagrande apparatus is used for determination of

(a) wIfcd G4/ Plastic Limit

(b)  a M/ Liquid Limit

(¢) UPud U/ Shrinkage Limit

(d) E‘W@Tﬂ 7 ¥ ®1% 8l / None of the above

TA-03 9

March 2020
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26. IR BT I9EnT v ama & o fvar wmar €2

Planimeter is used to measure
(a) &% / Area (b) 3MEdT/ Volume
(c)  <arg/ Length (d) 9RfY/ Perimeter

27. U @ @13 a0 52 E@TR RIFT 1y 781 7 g0)R, @Y, e 1 U faafer e g

If “Fore bearing” of a line is S 49° 52' E (assuming there is no local attraction), the back
bearing of the line will be

(@ S52049E () S49°52’E
(c) N 49° 08 E (d N49°52°W

28. fmEfofed # @ ardas 3t S USfa a@dr SR SadT & SR garh 3 &) gerd 82

Which one of the following methods of levelling eliminates the error due to curvature and

refraction?
(@) TS 99aaA / Fly Levelling

(b) 3 W3 Ud UXT WIEe & diF B [l B THH HA g¢ 9HAH/ Levelling by equalizing the |
distance of back-sight and foresight

(c) A @1 Wiid / Check levelling
(d) URTE TEEH / Precise levelling

29. Uw fig R guf yaget SR GeP YagA P SA FI BT —— FaTd

Angle between true meridian and magnetic meridian at a point is
(@) gurd U / True declination () Ya@ra fGFE / Magnetic declination
(¢ f¥u/Dip (d) -/ Declination

30. gt gorw Freeret ¥g ATt W S R 9 e Sy goE 41 27
The transverse slope that is provided in road for easy drainage of water is

(a) =314/ Super elevation () &R/ Camber
(c) A&/ Gradient (d) e H Y H1E 2t/ None of the above

TA-03 10 March 2020
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8. [T(sin® + Cos@)d@ = 1 H 41 &7

Value of [;(sin@ + Cos®)d® =

@@ 0 ® 1 (0 2 (d 3

32. U® U I ¥F 3 BoTd @1 e RufRa @it et Wi o 2 @, 79 @1 o 4 HL 9k S
3§

Determine the volume of frustum of a right circular cone whose top diameter is 2m, bottom

diameter 4 m and height 3m

(a) Trm? (b) 6xm? (c) 5zm?® (d) dzm?

33. UG guaren ur i B SN Ugeh Bl 37 & foIg W1 § | 31, 98 20 TeX A ard Th g FeR
¥ 2 Mex gy P P e it #dr ¢ | afd gy &1 arTa %.25 Ul diex @ $fR O B @ .1 uid
dex &, 0, TV 100 TR §U Y Hell B JT | GeaTer bl fdperet1 rH Sl sm?

A milk dealer decides to cheat his customer by adding water. Therefore, in a filled milk
container of volume 20 litres, he replaces 2 litres of milk with water. If milk costs him Rs.25
per litre and water cost him Rs. 1 per litre, what is the profit the dealer makes by selling

100such filled milk containers?

(a) Rs. 10,000 (b) Rs. 8,000 (¢) Rs. 4,800 (d) Rs. 2,500

34.  F(x)=log (x3-3x2+4x-4) at x= 2 BT HF H1 87
Value of F(x)= log (x3-3x2+4x-4) at x= 2 is

(a) O b)) 1 (©0 o (d) Indeterminate

TA-03 11 March 2020
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35. ﬁm%mﬁsﬁﬁ@mmﬁ%mﬁmﬁ@ﬁﬁ%mw%@wwﬁmw
gm?

Neglecting head loss due to friction, which of the following pipe cross section have maximum

discharge

(a) O 2 #t. &9 @1 g / Circle of Dia. 2m
(b) A 3 . ed % g e / Equilateral triangle of 3m side
(c) D o 7t ured & 9 / Square of side 2m

(d) D o MEas R 1.2 rﬁ ¥ THFIGR UTNd a1 &1 gHed / Trapezium of 2m height and
1m and 2m parallel side lengths

36. X (2. ]2vV2VZ i o =y, A y I T 82

(a) 1.73 b 141 (¢ 2 d)

37. o Y g 3 T &, A S el O 1 g
If lines perpendicular to each other, the product of their slope is

@@ 0 (b) 1 @ -1 (d) o

38. Wz o @ yMId g a1 B (L) ¥ T AMET, 456-2000 TR WA FiHIC BT AaH IS
G
The minimum grade of concrete (RCC) recommended by IS 456-2000 for concrete exposed to

sea water spray is

(@) M25 () M30 () M35 (d) M40

TA-03 12 March 2020
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39. 4 T W% ¥ Te FARER 99 § B8R W pusid 20 g o1 996fa UR 6k S # feania
40 FF REAUR & | SR ST 3R SR TR s el &1 udl gl

A cantilever beam of length 4m has a concentrated load of 20kN acting at the end and
40kN acting at the centre. Find the support reaction and bending moment at the support

(a)  60kN, 240kNm (b) 60kN, 160kNm
(c) 30kN, 200kNm (d) 30kN, 160kNm

40. TS A BT SR Ul IHb UYL UG & SIS § | FHPT UIaw ST T BT ?
The Bulk modulus of a material is equal to its shear modulus. Its Poisson’s ratio is

(a) 0.225 (b) 0.125 (¢) 0.355 (d 0.5

41, T 3 R S A Site veeH BT SifieaH aate H e S 82
The maximum area of compression reinforcement in beam, without overlapping is given by
(d-effective depth, D-Overall depth, b-breadth)

(a)  0.04bd (b) 0.04bD (¢ 0.12bd (d) - 0.12bD

42, TSN, 800-2007 R U Wfehd HR F BRI Yfersict & SHGHU HHITA eb 1 3G T T ST
F8?
The effective slenderness ratio recommended by IS800-2007 for a tension member which is
subjected to a reversal of direct stress due to live loads is

(@) 180 @1 3(f¥&HdH / Maximum of 180 (b) 250 &1 ¥HIH / Maximum of 250
(c) 180 ®gAdH / Minimum of 180 (d) 250 HAGH / Minimum of 250

43. TP g Siem & FeiRR Teeieiun & R wed &8 31 siftead o 12 A 8 | e 38 @ I e
BT 8?
Max d_iameter of bar used for helical reinforcement in a circular column is 12 mm. The

diameter of tie bar is

(a) 4mm (b) 6mm (c) 8mm (d) 10mm

TA-03 13 " March 2020
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44.

45.

46.

47.

48.

T 32 &1 Wie e [Has S H T8l B 91e?
Compressive strength of country brick should not be less than

(a) 10 N/mm?2 () 7.5 N/mm? (c) 5 N/mm? (d) 3.5 N/mm?

1 70 9} st TierE & a2 o ST O F Ue GRad gl BIE BT SIS ST T g e
Moment of Inertia of a hollow circular section with outer dia 2m with wall thickness 1m is

(a) 1.48 m* (b) 1.08 m* (¢) 0.74 m* (d 0.64m*

3T, 456-2000 F STHR de SSHIRIT Wil & Taeiiepy0 & ford TP YAaH TR e 87

According to IS 456-2000 minimum cover required for steel reinforcement subjected to severe

exposure 1s

(a) 25mm (b) 30mm (c) 45mm (d) 50mm

aifirran vie & = § g e, St YR ¥ TRTGE ST & I TIe SFIHIT fatbe Biell 8, T
FEATA 87

The strength defined as the maximum stress at which a steel section fails under repeated

application of load

(a) sifa Wi / Fatigue limit (b) WUz gz} / Impact strength
(c) a1 gAal / Tensile strength . (d) Hdred THE/ Compressive strength
Wiie ¥ AfS To@ ) fHud R A ST 67

Specific gravity of cement is measured by

(a) TI-VMATOC FoT&h /Le-chatelier flask (b)  TEhHIE 34T /Vicat Apparatus

(c) Hifem /Sieving (d) d9F gl q{i&70r / Air permeability test

TA-03 14 March 2020
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49. THUETH U 10 WA P R Fag @ S TA i R Fer g & e B srura @ geme?

In a pipe, water is flowing at the rate of 10 m/s. What is ratio between the entrance loss and

exit loss?
(@ 0.5 ®) 1
(c) 2 d 4

50.  27°CTR S %! Tu-dl 1 81l 87
The density of water at 27°C is
(a) > lgmlcc (b) < lgmlcc
(c) = lgm/cc (d) g YUY 8l / No relationship exists

51. UMt AWE ¥ e &9 gu urEtl 1 Sud e S T § | e i i Ol B eHEieR w9 3 SigA
3 areh 2 BfY AR sfwen ¥ Sire W § areht 3 S @Y e H T W, |, urey & vaw iR P
& o= <inf g1 &1 3FuTa T B 87
Three identical pipes are used to carry water. The ratio of head loss between the entry and

exit of the pipes, when the pipes are connected in series to the head loss when connected in

parallel is

(@) 1/9 ® 9

© 3 @ 1/3
52. I TARISEEd $5 R HRRA §, ——— W A g g

Buoyant force acts at the Centre of Buoyancy which is at the?

(a) f=ufid 5@ F1&Had / Centroid of liquid displaced

(b) o & S| T ST &% / Centroid of the submerged portion of the body
(0 TSP e dl %5® / Centre of gravity of the entire body

(d) I Helds® / At the meta centre of the body
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53.  Uehd fepareiiel W U T 3eheye fagei o gl 82

The output discharge from a single acting reciprocating pump is

(2) R ool & Wy FRAOR @ & / Continuous with constant discharge

(b) eAM fausH / Pulsating discharge

(c) 3mafe =0 9 fy=rfa FYaR fausE / Periodically varying Continuous discharge

() i ok 9u ¥ ergud Ta . WR SMeTRd / Depends of the head and rated HP of the pump

54. G-I (RAW  ger arell S & E-11 (Vga e giie) & ary sy ok wel 9ar 9
Match List-I (Impurities to be removed from sewage) with List-II (Treatment unit used) and
select the correct answer

Gl List-I Tl List-II

A. S8 WM a%/ 1. feepieiT ftheex/
Large floating matter Trickling filter
B. [RR-ARY 3fuid %] / 2. TTUPE FARWRR/
Settle-able inorganic matter Primary Clarifier
c. Treiferd oig a%g/ 3. flcdR/
Suspended organic matter Grit chamber -
D. ﬁﬂﬁl’deﬁ'a@ 4. T/ Screens
Dissolved organic matter
Codes:
A B C D
(a) 3 il #
) 3 4 1 2
(c) 4 3 2 1
@ 4 3 1 2

55. Oc P AR B3Rl BT HRU T &7

Temporary hardness of water is due to

(a)  Uehc Ud TS / Sulphates and Chlorides

(b) HEMAT Ud STIPHISME / Carbonates and bicarbonates
()  ®EMe T4 ¥ethe / Carbonates and sulphates

(d) U Ud AEec / Sulphate and nitrates
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56. - I (@G UgEU)@! GE-11 (e uHTa)d Ty firemsd ofR &t & i fad T8 @ls 1 Sudi Hd §U
el IR g

Match List-I (Air Pollutants) with List-II (Harmful Effects) and select the correct answer

using the codes given below the list.

FAlList-I HeAllList-IT
A. SPM 1.5 garaita/
Blo.od Haemoglobin
B. NO 2 9@/ Vegetation
C.CO 3.3a4 JuMeil/Respiratory System |
D. SOz FRICEET PR
Building Materials
Codes:
A B C D
(a) 3 4 ) & ¥
® 1 2 3 4
(c) 3 2 1 4
@ 1 4 3 2

57. @ T uREy T dH HH: na = 40% HRnp = 60% WYY § | eazensr A BT AT I &7
Two soil samples A and B have porosities na = 40% and ne = 60% respectively. What is the

ratio of void ratios ea:es?
(a) 2:3 (b) 3:2

(c) 4:9 : d 94
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58. UF 309% Siiqie TSOETe TaT 1 FIfSHd SR Wik UrRd Y &1 SIUTd T

For a sand having an internal friction of 30°, the ratio of passive to active lateral earth
pressure will be

@ 1 ®) 3 © 6 d 9

59. @-Iﬂ%%m}ﬁﬁnﬁ-ﬂ@ﬁgﬂﬂ%ﬂsmuﬁa@aﬁ??&ﬁﬁ%ﬁ%ﬁﬁnﬁaﬁﬁﬁmﬂmﬁ@ﬂﬁ
IR

Match List-I (Type of soil) with List-II (Suitable foundation) and select the correct answer
using the codes given below the list. }

HHlList- eltList-I1

A. g WRd ¥ geg qal/ 1. X9e i/ Raft foundation
Strong soil in surface layer

B, ol & A1 SUd e A 9 & 2. QYDA g/
1Y G FaIe el ‘ Isolated footing

Weak surface layer followed by rock at
shallow depth below ground

C. TR PN Ho Nt ao [Aga e a4 3. Sfd IS IRC e
B Jal/ End bearing pile
Swelling soil in surface layer extending up to a
few meters below ground level

D. god [quHH Tde Hal Wd/ 4. Yl AUAER/
Weak heterogeneous surface soil layer Under-reamed pile

Codes:

A BpC™N
(a) 1 4 3 2
® 2 3 4 1
(0 1 3 4 2
@ 2 4 3 1

60. FrEfiaa ¥ d HEefiie TR YR &1 7l 87
' Which of the following is the most expansive type of soil?
(a) werge / Laterite (b) i@ dicd Hal / Black Cotton soil
(¢)  ¥ad@/ Gravel (d) el gar/ Sandy soil
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5. MW&W%H%%Wmﬁiﬁw%mmm,mqéﬁwwaﬁtmaﬁt%%{qmaﬁﬁ
srer S| et v 3 g ues | SAfereR WX S Terd W WHT ST

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wg@wﬁmﬁ#aﬁtw%ﬁﬁﬁwgmgmgmgﬁﬁa%mm%,ﬁ'éaﬁ.qq.am.sﬂzm,ﬁmﬁ
RorgT qo Toer HE AREE B A T T W, Ia-YHT e Tal o S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. gﬁﬁﬁmmaﬁwiwﬁm%mmmmm%Wﬁsﬁzqﬁeﬁawﬁl

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. Wmmmmﬁﬁﬁﬁé,qﬁwﬁaﬁmﬁﬁﬁﬁzmgﬁ%mmmaﬁmﬁmﬁﬁ I 9 F g
£ gEaER T FM|

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. trﬁ&ﬂ%:ﬂ'aﬁ(1)qﬁaﬁm%ﬁﬁwﬁm%aﬁaﬁa(z)@aﬁ.@.m.aﬂwﬁzﬁﬂ%aﬁmwéam
frelt oft offerfy o sreff 5@ 7 @ sm)

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

wdek
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